el [X3EMNT1=F7HVT(2023F )
WSS *>5 :50mERBRE S1#k [BF]

I fiz RA)—IV% K4 A4 L
1 FH AR W& 39.5
2 INETE 2B = 40.0
2 F& wmF BA 40.0
4 INE TR Tk 41.0
4 = HEE 1K 41.0
6 7 = BN 41.2
7 A& i % 41.4
8 FE AR B 41.6
9 R Pl 41.7
9 INETE Pt fEE 41.7
11 FH e BRet 41.9
11 KBk 3 e 41.9
13 = = iE 42.0
14 INE =& K# 42.4
15 INEF BH RE 42.6
16 INE TR KP EiX 42.9
17 FH =2E = 43.1
18 INE IrEE SXKER 43.2
18 INE T2 BIE 43.2
20 INE =1 B 43.6




el [X3EMNT1=F7HVT(2023F )
WSS x5 :50mERBR S1#k [ZF]

I fiz A=)V % K4 A4 L
1 INETR ey EE 41.9
2 FH AR & 42.0
3 K& KB = 42.2
4 INE nmo g 42.3
4 INETE TE 775#H 42.3
6 KBy PRIR E 42.5
7 INETE BE &K 42.7
7 FH AA EETY 42.7
9 F& XE Ytk 42.9
10 INE mnzk =% 43.0
11 FH Rk SPZE 43.4
12 o) HO F4 43.6
13 IrfE] =B MEF 44.0
13 K% =) 44.0
15 7xfE HK FIF 44 1
16 IrfH] AR #&1E 44.3
17 IR fH] Il #EE 44.7
18 FH R Bt 45.2
19 INE Il Hi 45.3
20 g RE DS 45.6




Fom X380 a=F7HyT (20234FE)
WSS x>2 5 - 50mBE B S2#k [BF]

I fiz RU—IL% K4 A4 L
1 oii S8 £X 37.1
2 o) T H M 38.7
3 13 B B 39.8
4 o) BRE Mt 40.0
5 IR fH] —HERE BX 40.2
6 REZR ME == 40.5
7 FH =5 EX 42.2
8 JR =20 # 43.2

WSS X245 50mBE B S28k [ZF]

I fiz RU—IL% K4 A4 L
1 KBy =aF AT 38.4
2 INE fEH J\&E 39.4
3 ING fiefE B 40.1
4 13 RIS &A 40.5
5 [ BX EF 40.6
6 INE XE &M 40.7
7 HKEr EH $F 41.0
8 K& ARl 41.3
9 REZR HO #3¥ 41.6
10 oii fiE &g 41.9
11 I N 44.3
12 JR mH &I 45.4




F6Mh [FaHEH
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vai—

THvT (20235 )

WSS X5 50mBE B S3#k [BF]

I fiz RA)—IV% K4 A4 L
1 HREy K B 38.0
2 [ 030 #RF 38.7
3 IR AR e 39.5
4 K% At 18 39.7
5 [ £H Bz 39.8
6 INE B EEH 39.9
7 HEy K HME EF 40.2
8 KBy NN 40.5
8 INETFE g 40.6
10 K& ML 1€E 40.6
11 INETE KA 1R 40.7
12 K% NS I 40.8
13 IrfE] R = 40.9
14 [ EH HRMA 41.1
15 REAR Bl &k 41.3
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Fom X380 a=F7HyT (20234FE)
WSS x> 5 - 50mBE B S3#Hk [ZF]

I fiz A=)V % K4 A4 L
1 IR fH] b4t HEE 39.4
2 I 0O ZRE 40.0
3 13 BH &hE 40.3
4 K& /A R 41.0
5 INE il H%F 41.1
5 REZR KIE 27y 41.1
7 INETE XfE fEF 41.3
8 [ ZH /N 41.6
9 g N& PR 41.8




Fom X380 a=F7HyT (20234FE)
WSS x5 - 50mBE B S4fk [BF])

I fiz RA)—IV% K4 A4 L
1 IR fH] EFH JEXBA 35.7
2 INE 2R BE 37.3
3 13 hE I 38.7
4 FH HEE B 38.9
5 13 il & 39.0
6 KBy Iz &5 39.4
7 = =R E%E 39.6
8 ING 2 B3— 40.2
9 13 5 R} 41.3
10 JR £H K1B 41.6

WSS X4 50mBE B S4#k [HF]

I fiz RU—IL% K4 A4 L
1 INE TR Kt BE 36.6
2 INE AR FIRE 37.8
3 REZR HE AEdH 38.7
4 PN RE ER 39.9
5 K& wE miK 40.3
6 P AAGR BEF 40.5




Fom X380 a=F7HyT (20234FE)
WSS x> - 50mBE B S5#k [BF])

I fiz RA)—IV% K4 A4 L
1 INETR =iE BE 35.9
1 KBk Bl 34 35.9
3 HEy K Bl St 37.5
4 REZR BA BEYE 38.2
5 K& iE 2 38.3
6 ING R EER 38.5
7 K% al gEZE 38.8
8 REZR Al %= 39.3
9 IR £ X 39.6
10 & FEO & 41.0
11 g TH RE 42.6

WSS X5 50mBE B S5k [ZF]

I fiz A=)V % K4 A4 L
1 ING =F XE 37.6
2 REZR oA #54 37.9
3 ING e B 39.6
4 P15 EiZ BF 40.8
5 REAR M AR 41.0




Fom X380 a=F7HyT (20234FE)
WSS x> - 50mBE B S6#k [BF]

1 13 HifE MRS 34.9
2 INETE " S 35.7
3 INE 2R EX 36.0
4 13 HA K& 36.9
5 INE RER =3 37.6
6 & FH FRH 39.2

WSS x4 - 50mBE B S6#k [ZF]

JIE 3z
1 R #AH EW 38.7




Fom X380 a=F7HyT (20234FE)
WSS x> - 50mBE B S7#H [BF]

I fiz RA)—IV% K4 A4 L
1 oii WH £z 33.9
2 P15 WA EZIT 34.6
3 FH fIER &L 34.7
4 KBy ME E 35.0
5 13 Kig I&48 35.4
5 REZR B2 FEAED 35.4
7 K& o X 35.6
8 REZR FHE B 35.7
8 = Ay RE 35.7
10 INE TR EHI & 36.0
11 P Il FEth 36.8
12 INE HF B3 36.9
13 = HF R 37.2
14 g YR 16K 37.8

WSS x25 50mBEHERE STH [&F]

I fiz AI)—IV% K4 A4 L
1 = Bk XF 34.2
2 FH WHER D 35.1
3 P15 K &F1E 35.2
4 IR fH] BE JStRE 35.7
5 REZR il BFI% 36.0
6 g ERXK BB 36.4
7 = ik DTH 38.7




Fom X380 a=F7HyT (20234FE)
WSS x> 5 - 50mBE B S8k [BF]

1 INE aM A 32.4
2 K& RE BB 33.5
3 K% Bk BAE 34.0
4 ING HT EX 34.7
5 REAR NI PN 34.9

WSS X5 50mBE B S8#k [ZF]

1 HREy K HE X2 34.0
2 R Mg TR 34.8
3 13 p= 4 35.2
4 KBy HE AIEH 36.4
5 K& mE B 37.3
6 P15 EFt £3H 375




g6l [Eb5EH
WSS X5 50mBE B Sk [BF]

A= TFThyT(2023FE)

1 13 SEH EN 33.0
1 KBk A% Flzt 33.0
3 K% BRRE I&EE 33.1
4 g IE fEE 33.4
5 INE WE #E 34.2
6 [ AEK fds 34.4
7 = = =KH 345
8 FE sh7k XN# 34.9
9 INE RIS ZR1E 38.5

WSS X5 50mBE B Sk [ZF]

1 I~ Il &= 33.8
2 IRl AE RKE 35.0
3 AE FE BZEE 38.2




el [X3EMNT1=F7HVT(2023F )
WSS x>2Y 5o0mBEEF S108k [BF]

I fiz RA)—IV% K4 A4 L
1 HREy K Frp EAMT 31.4
2 INE wRE BE 32.0
2 HEy K BN R 32.0
4 REZR B 1&H 32.2
5 FrfE o&E EE 32.6
5 o) AT by, 32.6
7 INE /NI ol 33.4
8 = Bra & 33.8
9 [ aHh BER 34.0
10 K& RAT 8 35.8

WSS X5 50mBERBF S10#k [ZF)

& {3z AU—ILE& K4 A L
1 HER B IEE 33.1
2 AER EE M 33.5




el [X3EMNT1=F7HVT(2023F )
WSS x>2Y 5omBEEF S11#k [BF]

1 PN =4 et 31.3
2 [ & XK 31.4
2 P RKAR 2 31.4
2 KBy BH EH 31.4
5 PN He & 32.2
6 FE hE B 32.5
7 REAR Hix % 32.6
8 ING & B 34.4
8 INE WH &M 34.4

WSS x> . 50mBEHfE Stk [ZF]

& {3z
1 INE 2T

oo

A2

33.6




el [X3EMNT1=F7HVT(2023F )
WSS x>2Y 5omBEEF S128k [BF]

1 IR fH] A K# 30.1
2 KBk O 30.7
3 INE Il BExE 30.8
4 ING EH HRE 31.2
5 = ®EE B 31.6
6 = =l JEK 32.6
7 K% i e 33.0
8 JR HHE &4 33.8

WSS X4 50mBERBF S12#k [ZF)

& 42
1 gk A IKRF 315




